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1. Bleaching powder and bleach solution are produced

on a large scale and used in several hous-hold
products. The effectiveness of bleach solution id often
measured by iodometry.

25m L of household bleach solution was mixed with
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30mL of 0.50M K1I and 10mL of 4N acetic acid. In the
titration of the |liberated iodine, 48mL of
0.25NNay 55,03 was used to reach the end point. The
molarity of the household bleach solution is :

A.0.24 M

B.0.48

C.0.024 M

D.0.96 M

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_6Vu0tscFrLh0

2. Consider the following cell reaction.
2Fe(s) + Oy(g) + 4H * (aq) — 2Fe** (aq) + 2H,0(l),
E° =167V
At [Fe’t]| =107°M, P(Oy) = 0.1 atm and pH-=3,
the cell potential at 25° C'is

A 1.7V

B.1.57V

C.1. 87V

D. 1.47V

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_lQDMulxaW5Gw

3. An example of halide ore is

A. Galena

B. Bauxite

C.Cinnabar

D. Cryolite

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_19ZYcXBF13bB

4.The major product of the following reaction is

CH,
CH,CI (1) AICl; (anhyd.) "
} (i) H,0

A

. : b
CH;0.
B : :

(‘HJ)@
C.
D. : i

Answer: B



https://dl.doubtnut.com/l/_NnsdxV7ptUtp

l O Watch Video Solution J

5. A current of dry air was passed first through a series
of bulbs containing a solution of C¢Hys — NOyy in
ethanol of molality 0.725 and then through a series of
bulbs containing pure ethanol. (T = 284 K) loss in
weight of the solvent bulbs was 0.0685 g. Calculate the

loss in weight of the solution bulbs.

A.460¢g

B.520 g

C.250g

D.2.05g


https://dl.doubtnut.com/l/_NnsdxV7ptUtp
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Answer: D

o Watch Video Solution

6. Among the following complexes
Kg [Fe(CN)ﬁ], [CO(NH3)6] Clg ’
Nag|Co(oz)s], |[Ni(H,0)4|Cly, Ky[Pt(CN),] and
|Zn(H,0)4(NO3),]
The diamagnetic are .

A K,M, O, P

B.K,L, M, N

C.L,M,N,O

D.L,M,0 P


https://dl.doubtnut.com/l/_OZi77CiAcM76
https://dl.doubtnut.com/l/_hRDwqddtIvMy

Answer: D

o Watch Video Solution

7. Flocculation value for AsyS3 sol by HCl is 30 m mole
L™ ! . calcualte mass of HySO, required in gram for
250 mL sol.

A.0.1838

B. 0.3864

C.0.3675

D. 0.1218

Answer: C


https://dl.doubtnut.com/l/_hRDwqddtIvMy
https://dl.doubtnut.com/l/_VMObmfOguvm8

° Watch Video Solution

8. The major product of the following reaction is

O
4

C~ _
@i%/NH (i) KOH N

5 (i) Br CH,CI
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Answer: A

o Watch Video Solution

9. Among the following compounds the most acidic is

A. P - hydroxybenzoic acid

B. P - nitrophenol

C. P -toluic acid

D. O - hydroxybenzoic acid

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_gXziFipbKxhz
https://dl.doubtnut.com/l/_Th5NfztgVzIA

10. The crystal system of a compound with unit cell

dimensions a = 0.388 , b = 0.388 and ¢ = 0.506 nm and

o =8=090° and v = 120° is

A. Hexagonal

B. Cubic

C. Rhombohedral

D. Orthohombic

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_WRIXqnYUvhHq

11. The reversible expansion of an ideal gas under
adiabatic and isothermal conditions is shown in the
figure. Which of the following statement(s) is (are)

correct?

= “2s isothermal

a4
e (P VT
® (P3,V,,Ty)
>

adiabatic

AT; > T,

B.T, = T


https://dl.doubtnut.com/l/_aGuiWwuRY9CU

C. AU'isothermal > AUadiabatic

D. I/I/visothermal > Wadiabatic

Answer: A

o Watch Video Solution

12. For the first order reaction given below select the
set having correct statements
2N>05(g) — 4NOs(g) + O1(g)

(1) The concentration of the reactant decreases
exponentially with time

(2) the reaction proceeds to 99.6 % completion in

eight half life duration


https://dl.doubtnut.com/l/_aGuiWwuRY9CU
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(3) the half life of the reaction depends on the intial

concentration of the reactant

(4) the half life of the reaction decrease with

increasing temperature

A 1,2

B.1,2,3

C.1,24

D.1,2,3,4

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_6Av14Ry4b2zR

13. Amongst the compounds gives, the one that would
form a brilliant colored dye on treatment with

NaNQOs in dil. HCI followed by addition to an alkaline

solution of 8 — naphthol is
NHCH;
A &
N(CHs),
5.

CH,NH,
. T
o
H;C

D.

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_9j8afu0B0Ps6

14. Passing HyS gas into a mixture of
Mn®T, Ni®T, Cu®" and Hg?" ions in an acidified
aqueous solution precipitates

A. MnS and CuS

B. CuS and HgS

C. NiS and HgS

D. MnS and NiS

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_l16xH44gOHQm

15. In 1391, the sum of angular momentum, spherical

nodes and angular node is

V6h + 4w
A.
21

6h
B.L—i—?;
2

c v/ 6h + 2w

2w

v/ 6h + 8
D.
2T

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HXJhmkQoqijp

16. The major product obtained in the following

reaction is

CcO 2 Et
NaOEvA
s
m
O
Cmco: Et
A.

7

B CO»Et

C. CO:E(

)
<:\:—\</Co2 Et


https://dl.doubtnut.com/l/_mbRJncXvGcCO

Answer: D

° Watch Video Solution

17. Select the correct statements.

(1) Ferric bromide is obtained when chlorine gas is
bubble through a solution of ferrous bromide

(2) Sodium sulphate is obtained when
SO5(g), HyO(g) and air are passed over heated
sodium chlorine

(3) HyS gas is liberated when aluminium suphide

becomes damp.

A. statements 1 and 2 are correct


https://dl.doubtnut.com/l/_mbRJncXvGcCO
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B. statement 3 alone is correct

C. statements 2 and 3 are correct

D. all the statements are correct

Answer: C

o Watch Video Solution

18. The solubility order for alkali metal fluoride in

water is :

A IiF < RbF < KF < NaF

B.RbF < KF < NaF < LiF

C.LiF < RbF < NaF < KF


https://dl.doubtnut.com/l/_AI1rLPKPQOn3
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D. LiF < NaF < KF < RbF

Answer: D

o Watch Video Solution

19. Which of the following statements about asprin is

not true?

A. It is effective in relieving pain

B. It is a neurologically active drug

C. It has antiblood clotting action

D. It belongs to narcotic analgescis


https://dl.doubtnut.com/l/_CwnRDLKsALR1
https://dl.doubtnut.com/l/_RCJU9Vn1iiAD

Answer: D

o Watch Video Solution

20. The pH of 0.1 (M) solution of the following salts

increases in the order

A.NaCl < NH,Cl < NaCH < HCI

B.HCl < NH,Cl < NaCl < NaCN

C. NaCN < NH,Cl < NaCl < HCI

D. HCl < NaCl < NaCN < NH,ClI

Answer: B

[ ° Watch Video Solution
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21. Spin only magnetic moment of the compound

Hg[Co(SCN),] is /= B.M. The value of 'x'is

° Watch Video Solution

22. Xe(O,4 molecule is tetrahedral having 'x' number of

pm — dm bonds. The value of 'X' is .

o Watch Video Solution

23.The density of O, is 16 at STP. At what temperature

(in .° C) its density will be 14 ? Consider that the
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pressure remais constant.

° Watch Video Solution

24. How many statements are true for the following

pair of compounds ?

Cis Trans

(i) The dipole moment of trans isomer is zero
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(ii) The boiling point of cis isomer is more than trans
isomer

(iii) Cis isomer is more stable than the trans isomer
(iv) These are also called configurational
diastereomers

(v) These are readily interconvertible under normal
conditions

(vi) The melting point of trans isomer is more than the
cis isomer

(vii) Trans isomer is more soluble than cis isomer in

polar solvents

o Watch Video Solution



https://dl.doubtnut.com/l/_uX4PoSgVkRIB

25. The number of peptide bond(s) in the following

molecule is/are

.
H,N-C Hv—C—NH—ClH—C—NH—C H—C—NH @

CH;

° Watch Video Solution
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